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What could go here?

X = 12




140

- Ten more...
* Ten less ...
*One more ...
*One less...

* 100 more
100 less



What do you notice?

2 % 100 = 200

3 x 100 = 300
4 X100 =400
5% 100 =500
6 X 100 = 600
7 X100 = 700
8 X 100 = 800

9% 100 =900
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Review

Complete the calculations using the clues about zero




Key learning: | will know how to divide multiples of ten and 100 by ten

fen times less divide

value

*
*

inverse

* division *

ten times fewer




Connecting multiplying and dividing by ten

If | know this, what else do | know?e

4 Xx 2 =8

2X4=8

40 x 2 = 80
8+4 =2

4 x 20 = 80
8+2=4




4 X1 =4
s 3 Hundreds Tens Ones
4 x10 =40

When we multiplied by 10, what happened to the value of the number?

It was ten times greater. ST

When moving to the left, digits have a value that is ten times greater.



| do

What do you think will happen to this value if we now divide
it by 107?

Hundreds Tens Ones

40 =10 =

T
T v
T
T

The value will be ten times less.

When moving to the right, digits will have a value that is ten times less.



We do

What do you think will happen to this value if we now divide
it by 107?

Hundreds Tens Ones

50 +10 =

!

The value will be ten times less.

When moving to the right, digits will have a value that is ten times less.



You do

What do you think will happen to this value if we now divide
it by 107? ‘

Hundreds Tens Ones
70 +10 = e
N v
— v
T v
I v
v

The value will be ten times less.

When moving to the right, digits will have a value that is ten times less.



You do




poll

ovion1 —— Wopionz

4x10=40 4 x10 =40

40 ~10=4 40 ~ 10=4

4 is ten times the size of 40 40 'is ten times the size of 4




Let’s check we understand . -
90 +-10 = If we are to divide, which way do the

digits move then?

- YES! 1 place to the right. _"'

90 ¥ 10=2? +10
Hundreds I Tens | Ones |
100s 10s @ 1Is 90 + 10 =2

9 O ' Hundreds ' Tens 1 Ones
| | 100s 10s 1s
9 0
kK Iw
10 times 10 times
the size the size

If we were to multiply 90 our

d|g|ts would move 1 p|ace to the left. Our zero has fallen off the end, but that’s ok
because our 9 tens has become 9 ones.
h

x 10




Assignment
Go and find your assignment in the general folder.

Choose your chilli.

w <

Click the Editing button so you can type straight onto your
task sheet. It you can’t write on the assignment sheet you
can copy It onfo paper and take a photograph of it.




